Sirocco TurboDryers
(Models: FO2, FO2-HP, F02-220V, F42, F42-LA, F42-230V, F42-230V LA)
Symbol Definition
* - multiple components to choose from for different models: voltage, size, color, etc.
- if you order this item, you may need to order additional items marked with same number of +'s
in order to upgrade or complete repair

Find# Part Description Specifications/Model Part # Qty
3|Strain Relief Power Cord, Snap .400 Dia Blk 02-00005 | ea. 1
- Switch Knob New Style (larger-w/ screw) 02-01487 | ea. 1
26|Cable Tie Nylon 4" 03-00012 | ea. 1
17{Washer, rivet back-up 3/16" Rivet Zp W-6 03-00013 | ea. 23
- Nut - Motor Mount 1/4 - 20 SS Nyloc (In mtr Kits) 03-00017 | ea. 4
8|Washer - Motor Mount 1/4 1D x 5/8 OD Flat Zp 03-00018 | ea. 4
7|Rivet - Motor Mount 1/4 x 1/2" St/Stlzp 03-00022 | ea. 4
10{Screw - Side Screen #8 x 1/2" Pan Hd Phil SMS Zp 03-00023 | ea. 8
11|Rivet 3/16" x 1/2" Al/Al BIk Anod 03-00030 | ea. 19
15[Rivet Bottom Trim, 3/16 x 3/4 Al/Al Blk Anod | 03-00032 | ea. 4
22|Washer, Kick-Stand 1/8" rivet washer 03-00035 | ea. 4
23|Rivet - Kick Stand 1/8" x 1/2" AlJAl 03-00036 | ea. 4
Rivet Cap Box 3/16" Al Sht (F42) 03-00037 | ea. 4
- Nut - Motor Mount 5/16" - 18 Nyloc 03-00098 | ea. 1
- Bolt - Motor Mount 5/16" - 18 x 1 Hex Hd 03-00099 | ea. 1
- Bolt - Motor Mount-OOH 1/4 - 20 - 3/4 Hd 03-00139 | ea. 4
19|Washer Rivet 5/32" 03-01333 | ea. 1
18|Rivet 5/32 x 1/2 Al/Al Blk Anod 03-01367 | ea. 1
- Plastic Bag Repairs 06-00045 | ea. 1
Owner's Manual Balloon-115v (F42) 07-00105 | ea. 1
- Owner's Manual 115v 07-00106 | ea. 1
29|Label Warning 07-00109 | ea. 1
20|Capacitor Assy 10 MFD/370  (F42, -HP, -230V) 09-00012-01 | ea. 1
1|Power Cord Assy 115v, 25' (16/3 Sjtw 5-15P) 09-00047 | ea. 1
2|Power Cord 230v, 25' 3 x 1.50MM HO5VV CEET7/7 09-00049 | ea. 1

- Tape 1" BIk (Inside Mtr Mount) 13-00003 | ft. 1.5
Velcro, snout (F42) 13-00141 | ft. 4
5|Motor Kit ~ TBO 230v, 3/4 Hp 3 Spd (FO2-230V) S103 ea. 1

Sirocco TurboDryers (F02)

Page 1 of 2



Part Description Specifications/Model Part # Qty
5|Motor Kit 50Hz UK 230v, 3/4 HP (Convert to Sahara 230v mof S120 ea. 1
21|Kick Stand Kit (rivets, feet, istructions included) S128 ea. 1
24|Switch Kit 3 Speed S48 ea. 1
4|Housing Kit, Sirocco Fisher Blue, w/ accessories S49 ea. 1
13(Wheel Kit w/ Hardware 10 3/4" x 10 1/2" S54 ea. 1
6|Motor Kit w/ Hardware 115v, 3/4 HP (FO2-HP) S59 ea. 1
Sirocco TurboDryer Pictorial Breakdown
LEFT SIOE VIEW 12 ERINT VIEW
30
13
|
\
A N m
— 1 )
{ o s}
REAR VIEW ﬁ
SEE SWITCH BOX DETAIL
MOTOR LEADS
A® © @
SWITCH BOX DETAIL FOK
Sirocco TurboDryers (F02) Page 2 of 2



